RIsHR (5B _
BERXFEDOHITINR

REEZHIKR (4R 5)

XHAR XHR X =5 (M) XHE. AR
45258 R 5.000 =8k ﬁggg&;%uﬁﬁ%%%

RE (SHBEE) ____ _ _
S an =7 S5 (M) 1¢ﬁ7¢r§§ﬁ+§i§ﬁi<ﬂ)
B 1 5,000 1 5,000
R&Es 0 0
ES 0 0
i=§:) 0 0
e 0 0
o ) 0 0

=X 1 5,000 1 5,000




AlEEHR (E5EER)

REEZHIKR(5AS)

BERXEEOHITINER

*HAH THERS XHE&EE (M) XHE AR
58108 F 10,000 TThiEEH
58258 F 10,000 THEEH
FET(RFSEE)
LA SEERE
H X5 — — —
XS % 2% ([) % 2% ([)
Rt 2 20,000 3 25,000
RES 0 0
= 0 0
=41 0 0
& 0 0
ZDMC ) 0 0
=5 2 20,000 3 25,000




AlEEHR (E5EER)

REEZHIKR (6 A5)

BERXEEOHITINER

*HAH THERS XHE&EE (M) XHE AR
6838 F 10,000 tHEHmESEREH
68128 F 10,000 EEH
FET(BISEE)
n SEERE
THESS — L— 1 T —
” 5 28 (A 5 28 (M)
Rt 2 20,000 5 45,000
RES 0 0
= 0 0
=41 0 0
& 0 0
Z D th( 0 0
=5 2 20,000 5 45,000




AlEEHR (E5EER)

BERXEEOHITINER

REEXHIRR(7TER)
*HAH THERS XHE&EE (M) XHE AR
78138 #a 4,975 MEBRLHRTE BRIRBFA~NDELL
78218 RES 5,000 MEARRES
FET(BISEE)
LA SEERE
HEX 5 — — — —
XS T 2% ([) T 2% ([)
Rt 5 45,000
RES 1 5,000 1 5,000
= 0 0
=41 0 0
& 1 4975 1 4975
ZDMC ) 0 0
=5 2 9,975 7 54,975




AlEEHR (E5EER)

REEZHIKR (8AS)

BERXEEOHITINER

XA XX XS5 (M) Xk, NE
MK AL
i (SHBEE)
LH 5y SEERETEE
x/\
XHRES e £%5([A) H# =E (M)
- 5 45,000
HEs 1 5,000
2 0 0
=5 0 0
.. 1 4975
Zom( ) 0 0
=% 0 0 7 54,975




AlEEHR (E5EER)

REEZHIKR(9AS)

BERXEEOHITINER

XA XX XS5 (M) Xk, NE
MK AL
i (SHBEE)
LH 5y SEERETEE
x/\
XHRES e £%5([A) H# =E (M)
- 5 45,000
HEs 1 5,000
2 0 0
=5 0 0
.. 1 4975
Zom( ) 0 0
=% 0 0 7 54,975




AlEEHR (E5EER)

REEZHKRE(O0AS)

BERXEEOHITINER

XA XX XS5 (M) Xk, NE
MK AL
i (SHBEE)
LH 5y SEERETEE
x/\
XHRES e £%5([A) H# =E (M)
- 5 45,000
HEs 1 5,000
2 0 0
=5 0 0
.. 1 4975
Zom( ) 0 0
=% 0 0 7 54,975




AlEEHR (E5EER)

REEZHKRE1AS)

BERXEEOHITINER

*HAH THERS XHE&EE (M) XHE AR
118208 - 7,000 2g?$§§%$""1$%*§
118278 AR 10,000 THEEH
FET(BISEE)
LA SEERE
THESS — — —
7 T 2% ([) T 2% ([)
Rt 1 10,000 6 55,000
RES 1 5,000
= 1 7,000 1 7,000
=41 0 0
& 1 4975
ZDMC ) 0 0
=5 2 17,000 9 71,975




RIsHR (5B _
BERXFEDOHITINR

REEZHKRE(1285)

*HAH THESS XHE&EE (M) XHE AR
12820H F 10,000 TThiEEH
12828H F 10,000 HEHERXEH
12828H F 14,000 MEBHEREEETER
FET(BISEE)
LA SEERE
THRD — — —
7 T 2% ([) T 2% ([)
Rt 3 34,000 9 89,000
RES 1 5,000
= 1 7,000
=41 0 0
& 1 4975
ZO/C ) 0 0
=5 3 34,000 12 105,975




ARt (5 &ER) o )
BERXEEDOHITING

REEZHKRE(1AS)

XA XX XS5 (M) Xk, NE
MEEZXHGL
RET(FHIEE)
LH 5y SHEEREE
x/\
XHRES e £%5([A) B =E (M)
m R 9 89,000
HEs 1 5,000
& 1 7,000
%8 0 °
. 1 4975
ZoM( ) 0 0
ax 0 0 12 105,975




ARt (5 &ER) o )
BERXEEDOHITING

REEZHIKR(2A5)

XA XX XS5 (M) Xk, NE
MEEZXHGL
RET(FHIEE)
LH 5y SHEEREE
x/\
XHRES e £%5([A) B =E (M)
m R 9 89,000
HEs 1 5,000
& 1 7,000
%8 0 °
. 1 4975
ZoM( ) 0 0
ax 0 0 12 105,975




ARt (5 &ER) o )
BERXEEDOHITING

REEZHIKR(SAS)

XA XX XS5 (M) Xk, NE
MEEZXHGL
RET(FHIEE)
LH 5y SHEEREE
x/\
XHRES e £%5([A) B =E (M)
m R 9 89,000
HEs 1 5,000
& 1 7,000
%8 0 °
. 1 4975
ZoM( ) 0 0
ax 0 0 12 105,975




